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#include  
#define  
#undef #define  
#line  
#pragma  
#error  
#if 
#ifdef 
#ifndef 
#else 
#endif 
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1.3 (#include) 
#include   ` 

<filename> unix 
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#include "myfile.h" 
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(include.c) 

Hello World !! myfile.h
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#include <stdio.h> 
#include "myfile.h" 
return(0); 
} 

 

 
 

int main() 
{ 
        printf("Hello World !!\n"); 
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1.4 (#define) 
#include #define
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#undef 1 
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#define FN(x) (x*x-2*x+5) 
 
int main(){ int main(){ 
 
 y=FN(a);  y=(a*a-2*a+5); 
 
 return(0);  return(0); 
}  } 
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#define 2 2
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y[i]=2*y[i-1]+DY2DX2(x-dx,y[i-1])*dx*dx - y[i-2]; 
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1 2 3

 
 

 
 
 
#define DY2DX2(x,y) (-y) /* differential equation */ 
#define DYDX0 1 /* initial condition dy/dx */ 
#define Y0 0 /* initial condition y(0) */ 
 
#define N 1000 /* number of calculation steps */ 
#define MAX_X 10.0 /* calculation limit x */ 
 
#include <stdio.h> 
 
int main() 
{ 
 double dx, x, y[N+1]; 
 int i; 
 FILE *result; 
 
 result = fopen("cal_result","w"); 
 
 dx = MAX_X/N; 
 
 
 /* ------ set intial conditions -------- */ 
 
 y[0] = Y0; 
 y[1] = Y0+DYDX0*dx+1/2*DY2DX2(0,y[0])*dx*dx; 
 
 fprintf(result,"%e\t%e\n",0,y[0]); 
 fprintf(result,"%e\t%e\n",dx,y[1]); 
 
 
 /* ------ solve the equation --------- */ 
 
 for(i=2; i <= N; i++){ 
  x = i*dx; 
  y[i]=2*y[i-1]+DY2DX2(x-dx,y[i-1])*dx*dx - y[i-2]; 
 
  fprintf(result,"%e\t%e\n",x,y[i]); 
 } 
 
  fclose(result); 
 
 return(0); 
} 
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(cal_result)

(x,y) gnuplot
 

 
 gnuplot gnuplot  

 
[yamamoto]$ gnuplot 
 

 gnuplot plot " "
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gnuplot> plot "cal_result" 
 

 gnuplot exit  
 
gnuplot> exit 

 
 
 

 
 

2 gnuplot  


